Paper / Subject Code: 59201 / Algorithm & Complexity

ME  Zem I/ Comp / Choice base / Corond  half

(3 Hours)
N.B. (1) Question No. 1 is compulsory
(2) Attempt any three out of remaining five questions

1. (a) Use the master method to show that the solution to the bm
T(n)=T(n/2)+6(1) is T(n)=6(Ig n)

(b) Explain Knuth Morris Pratt algorithm

(c) Explain Chinese reminder theorem 3

(d) Explain difference constraint problem 5
2. (a) Solve following matrix chain multiplication _: . 10

P =<35, 10, 5, 30, 20, 15>

(b) What is convex hull? Explain Graham’

10
4. 10
10
3. ¢; And find Maximum flow 10

Qhéencryption of the message M =100? 10
20
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